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Definicoes

V

void setup()

v

leitura2 =
digitalRead(pinobotao_ah)

A 4

currentMillis = millis()

v

leitura =
digitalRead(pinobotao_h)

leitura '=0

leitura2 =0

myStepper.step(2000)

v

myStepper.step(-2000)

(millis() - previousMillis)
> interval

tone(buzzer, 1500)

v

delay(500);

v

noTone(buzzer)

\

delay(500)

previousMillis = millis()

value == LOW

Y

value = HIGH

value = LOW

digitalWrite(ledPin, value)

\ 4

tone(buzzer, 1500)

v

delay(500);

v

noTone(buzzer)

\

delay(500)




